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Q.1 Suppose the vectors x1, x2 and x3 are the solutions of the system of linear equations, Ax=b when
the vector b on the right side is equal to b1,  b2 and b3 respectively.

if 1 2 3 1 2 3

1 0 0 1 0 0
x 1 , x 2 , x 0 , b 0 , b 2 and b 0

1 1 1 0 0 2

           
                           
                      

, then the determinant of A is equal to

ekuk l fn' k  x1, x2 r Fkk x3 j Sf[ kd l ehdj .k fudk;   Ax=b ds gy gSa] t cfd nkabZ vksj  dk l fn' k b Øe' k%   b1, b2 r Fkk b3 ds

cj kcj  gSA ; fn 1 2 3 1 2 3

1 0 0 1 0 0
x 1 , x 2 , x 0 , b 0 , b 2 b 0

1 1 1 0 0 2

           
                           
                      

r Fkk , gS] r ks  A ds l kj f.kd dk eku gS%

(1) 2 (2) 
1
2 (3) 

3
2 (4) 4

Sol. (1)

1 2 3

4 5 6

7 8 9 3 3

 
   
  

a a a
A a a a

a a a

1 2 3 2 3

4 5 6 5 6

7 8 9 8 9

1 2 0
0 2 2
0 2 0

    
    
    

a a a a a
a a a a a
a a a a a

3 6 90, 0, 2  a a a

8 5 21, 1, 0    a a a  1 4 7 , 1, 1     a a a

A = 

1 0 0
1 1 0
1 1 2

 
  
   

|A| = 2(1) = 2

Q.2 If a and b are real numbers such that 4(2 ) a b    , where 
1 i 3

2
 

   then a+b is

equal to:

; fn a r Fkk b , sl h okLr fod l a[ ; k, ¡ gS fd  4(2 ) a b    , gS] t gk¡ 
1 i 3

2
 

   gS] r ks  a+b dk eku gS:

(1) 33 (2) 57 (3) 9 (4) 24



Sol. (3)
4(2 )  a b 

4
3 12
2

 
    

 

i a b

4 4
3 3 39

2 2 2
   

       
   

i i

 4/69 ie   = 2 /39 ie   = 
1 39

2 2
 

  
 

i
 = 

9 9 3
2 2


 i

9 9 3
2 2

  i  = 
1 3

2 2
 

   
 

ia b

= 
3

2 2
 

b bia


3 9 3 9

2 2
  

b b

a = 0 a + b = 9

Q.3 The distance of the point (1, –2, 3) from the plane x–y+z=5 measured parallel to the line  
x y z
2 3 6
 


 is:

fcanq (1, –2, 3) dh l er y   x–y+z=5 l s j s[ kk
x y z
2 3 6
 


 ds l ekar j  eki h xbZ nwj h gS:

(1) 
1
7 (2) 7 (3) 

7
5 (4) 1

Sol. (4)
Equation of line through (1,-2,3) whose
dr’s are (2,3,-6)

1 2 3
2 3 6
  

  


x y z


any point on line (2 1,3 2, 6 3)     



put in ( 5)
2 1 3 2 6 3 5

7 1
1
7

  
     

  



x y z
  





distance 2 2 2(2 ) (3 ) (6 )    

2 2 24 9 36 7 1       

Q.4 Let f : (0, ) (0, )    be a differentiable function such that f(1) = e and 
2 2 2 2

t x

t f (x) x f (t)lim 0
t x





.

If f(x)=1,then x is equal to :

aekuk  f : (0, ) (0, )    , d , sl k vodyuh;  Qyu gS fd  f(1) = e r Fkk  
2 2 2 2

t x

t f (x) x f (t)lim 0
t x





.gSA ; fn

f(x)=1, gS] r ks x dk eku gS:

(1) e (2) 2e (3) 
1
e (4) 

1
2e

Sol. (3)

(1) f e
2 2 2 2( ) ( )lim




t x

t f x x f t
t x

L’ Hospital

 2 2lim 2 ( ) 2 ( ) ( )


 

t x
tf x x f t f t

2 22 ( ) 2 ( ) ( ) 0   xf x x f x f x

 2 ( ) ( ) ( ) 0 xf x f x xf x

 
( ) 1)


 
f x
f x x

ln ( ) ln ln f x x c
( ) f x cx

if x = 1, e = c
y = ex

 if f(x) = 1  x = 
1
e



Q.5 Contrapositive of the statement :
‘If a function f is differentiable at a, then it is also continuous at a’, is:
(1) If a function f is not continuous at a, then it is not differentiable at a.
(2) If a function f is continuous at a, then it is differentiable at a.
(3) If a function f is continuous at a, then it is not differentiable at a.
(4) If a function f is not continuous at a, then it is differentiable at a.
dFku ;̂ fn , d Qyu f, a i j  vodyuh;  gS] r ks ; g a i j  l ar r  Hkh gS* dk i zfr /kukRed dFku gS%
(1) ; fn , d Qyu f, a i j  l ar r  ugha gS] r ks ; g a i j  vodyuh;  ugha gSA
(2) ; fn , d Qyu f, a i j  l ar r  agS] r ks ; g a i j  vodyuh;  gSA
(3) ; fn , d Qyu f, a i j  l ar r  gS] r ks ; g a i j  vodyuh;  ugha gSA
(4) ; fn , d Qyu f, a i j  l ar r  ugha gS] r ks ; g a i j  vodyuh;  gSA

Sol. (1)
Contrapositive of P  q = ~q  ~p

Q.6 The minimum value of 2sinx+2cosx is:
 2sinx+2cosx  dk U; wur e eku gS:

(1) 1 22  (2) 
1

1
22

 (3) 1 22  (4) 
1

1
22

 

Sol. (2)
y = 2sinx + 2cosx

by Am  GM
sinx cos x

sinx cos x2 2 2
2




2sinx + 2cosx  
s in x co s x

1 22 .2


2sinx + 2cosx 
2 sinx cos x

22
 

   (2Sinx + 2cosx)min = 2 2
22
  = 

1 1
22




Q.7 If the perpendicular bisector of the line segment joining the points P(1 ,4) and Q(k, 3) has
y-intercept equal to –4, then a value of k is:
; fn fcnaqvksa P(1 ,4) r Fkk  Q(k, 3) dks feykus okys j s[ kk[ k.M ds yacl ef} Hkkt d dk  y-var % [ k.M –4 gS] r ks k dk , d eku gS:

(1) –2 (2) 15 (3) 14 (4) –4
Sol. (4)

4 3 1
1 


   

PQm m k
k

1 7int ,
2 2
   

 
kmid po of PQ

equation of perpendicular bisector

7 1( 1)
2 2

     
 

ky k x

for y intercept put x = 0



2

2

7 1 4
2 2

1 15 4
2 2

 

 
    

 


   
k

y k

k

Q.8 The area (in sq. units) of the largest rectangle ABCD whose vertices A and B lie on the x-axis and
vertices C and D lie on the parabola, y=x2–1 below the x-axis, is:
ml  l cl s cM+h vk; r  ABCD, ft l ds ' kh"kZ fcUnq  A r Fkk  B, x - v{k i j  fLFkr  gSa ' kh"kZ fcanq C r Fkk D, x - v{k ds uhps] i j oy;
y=x2–1 i j  fLFkr  gS] dk {ks=kQy ¼ oxZ bdkb; ksa esa½ gS:

(1) 
2

3 3 (2) 
4
3 (3) 

1
3 3 (4) 

4
3 3

Sol. (4)

A B
(–a,0) (a,0)

y=x -12

c(a,a -1)2

x

y

D
(-a,a -1)2

 2

3

2

max

 Area 2 1

2 2

6 2 0

1 3
2 2 2 6

3 3 3 3 3

 

 

  

 
  

  

a a

A a a
dA a
da
a

A  = 
4

3 3

Q.9 The integral 
3 3 2 2 2

6
x 3x 2 x 3x 3 x 6x dx






/

/
tan .sin ( sec .sin tan .sin )  is equal to:

l ekdy  
3 3 2 2 2

6
x 3x 2 x 3x 3 x 6x dx






/

/
tan .sin ( sec .sin tan .sin ) dk eku gS:

(1) 
9
2

(2) 
1

18
 (3) 

1
9

 (4) 
7

18



Sol. (2)

I = 
/3

3 2 4

/6

2.tan sec sin 3 x x x




 + 3tan4x sin23x. 2sin3xcos3x dx

=
1
2  

/3
3 2 4

/6

4 tan sec sin 3 x x x




 + 3.4tan4xsin33xcos3xdx

=  
/3

4 4

/6

1 tan sin 3
2 

d x x dx
dx





= 
/34 4

/6

1 tan sin 3
2
  x x





=  1 1 19.(0) . 1
2 3 3
   

 = 
1

18


Q.10 If the system of equations
x+y+z=2
2x+4y–z=6
3x+2y+z=
has infinitely many solutions, then
; fn l ehdj .kksa ds fudk;
x+y+z=2
2x+4y–z=6
3x+2y+z=

ds vuUr  gy gSa] r ks%

(1) 2 5     (2) 2 14    (3) 2 14    (4) 2 5   
Sol. (2)

D = 0     

1 1 1
2 4 1 0
3 2

 


(4 2) 1(2 3) 1(4 12) 0      
4 2 2 3 8 0     

92 9
2

   

2 1 1
6 4 1

2 9 / 2



xD


= 0



 = 5
Now check option
2 + = 14

Q.11 In a game two players A and B take turns in throwing a pair of fair dice starting with player A and
total of scores on the two dice, in each throw is noted. A wins the game if he throws total a of 6
before B throws a total of 7 and B wins the game if he throws a total of 7 before A throws a total
of six. The game stops as soon as either of the players wins. The probability of A winning the game
is:
, d [ ksy esa nks f[ kykM+h  A r Fkk B ckj h ckj h l s vufHkur  i kl ksa ds ; qXe dks Qsadr s gSa] t cfd f[ kykM+h A [ ksy vkj EHk dj r k gS] r Fkk
i zR; sd ckj  nksuksa i kl ksa i j  vk,  vadksa dk ; ksx uksV fd; k t r k gSA ; fn B } kj k Qsads x,  i kl ksa ds vadks dk ; ksx 7 vkus l s i gys A
} kj k Qsads x,  i kl ksa ds vadksa dk ; ksx  6 vk t kr k gS] r ks A t hr r k gS t cfd A } kj k Qsads x,  i kl ksa ds vadksa dk ; ksx 6 vkus l s i gys
B } kj k Qsads x,  i kl ksa ds vadksa dk ; ksx  7 vk t kr k gS] r ks B t hr r k gSA fdl h Hkh , d f[ kykM+h ds t hr us i j  [ ksy l ekIr  gks t kr k
gSA  A ds [ ksy dks t hr us dh i zkf; dr k gS%

(1) 
5
31 (2) 

31
61 (3) 

30
61 (4) 

5
6

Sol. 2
sum total 7 = (1,6)(2,5)(3,4)(4,3)(5,2)(6,1)

P(sum) = 
6

36
sum total 6 (1,5)(2,4)(3,3)(4,2)(5,1)

P(sum 6) = 
5

36

P(Awin) = P(6) +      6 . 7 . 6 ....P P P

= 
5 31 30 5 .....

36 36 36 36
   

= 

5
36
31 301
36 36





  
5 36

36 36 31 30


  
  

5 36
1296 930




 = 
5 36
366


  
30
61

Q.12 If for some positive integer n, the coefficients of three consecutive terms in the binomial expansion
of (1+x)n+5 are in the ratio 5:10:14, then the largest coefficient in this expansion is :
ekuk fdl h /kui w.kkZd n ds fy, ]  (1+x)n+5 ds f} i n i zl kj  esa r hu Øekxr  i nksa ds xq.kkad 5:10:14 ds vuqi kr  esa gS] r ks bl  i zl kj
esa l c l s cM+k xq.kkad gS%
(1) 792 (2) 252 (3) 462 (4)330

Sol. 3

1 2: : r r rT T T
5 5 5

1 1: : 5 :10 :14  
  n n n

r r rC C C



 
( 5)! ( 5)! 5:

1 ! ( 6 )! !(n 5 )! 10
 


     

n n
r n r r r

1
6 2


 

r
n r

( 1)!( 4 )! 5
!( 5 )! 7
  


 

r n r
r n r

2r = n + 6 – r

3r = n + 6 ...(1)
1 5

5 7



 
r

n r
7r+7 = 5n + 25-5r
12r = 5n + 18 ..(2)
 4(n + 6) = 5n + 18
n = 6
 (1 + x) largest coeff = 11C5

 = 462

Q.13 The function 

1 x x 1
4f x
1 x 1 x 1
2

tan , | |
( )

(| | ), | |

   
  


 is :

(1) both continuous and differentiable on R–{–1}
(2) continuous on R–{–1} and differentiable on R–{–1,1}
(3) continuous on R–{1} and differentiable on R–{–1,1}
(4) both continuous and differentiable on R–{1}

Qyu 

1 x x 1
4f x
1 x 1 x 1
2

tan , | |
( )

(| | ), | |

   
  


 gS %

(1)  R–{–1} esa l ar r  vkSj  vodyuh; ] nksuksa gSA
(2)  R–{–1} esa l ar r  r Fkk  R–{–1,1} esa vodyuh;  gSA
(3)  R–{1} esa l ar r  r Fkk  R–{–1,1} esa vodyuh;  gSA
(4)  R–{1} eas l ar r  vkSj  vodyuh; ] nksuksa gSA

Sol. (3)

f(x) = 

 

 

 

1tan 1,1
4
1 1 1
2

1 1 1
2

   



 



   

x x

x x

x x



at x = 1



f(1) = 2


f(1+) = 0

 discontinuous non diff.
at x = – 1

f(–1) = 0 f(–1–) =  1 1 1
2

   = 0

cont. at x  = – 1

f’(x) = 

 2

1 1,1
1

1 1
2
1 1
2

   
 

   

x
x

x

x

Q.14 The solution of the differential equation 
e

dy y 3x 3 0
dx y 3xlog ( )


  

  is:

(where c is a constant of integration)

vodyu l ehdj .k 
e

dy y 3x 3 0
dx y 3xlog ( )


  

  dk gy gS%:

(t gk¡  c , d l ekdyu vpj  gS)

(1) x–loge(y+3x)= C (2)  2
e

1x y 3x C
2

log ( )  

(3) x–2loge(y+3x)=C (4)  2
e

1y 3x x C
2

log  

Sol. (2)

 
3 3 0

3


  


dy y x
dx n y x
Let ln(y + 3x) = t

1 . 3
3

     
dy dt

y x dx dx

  
33

3
      

dy y x
dx n y x

   33 
 

dt y xy x
dx t



 tdt = dx
2

2
 

t x c

  21 ln 3
2

y x  = x + c

Q.15 Let 0   be in R. If   and   are the roots of the equation, 2x x 2 0     and   and   are the

roots of the equation, 3x 10x 27 0     , then 



 is equal to:

ekuk 0  ,R.esa gSA ; fn    r Fkk   l ehdj .k, 2x x 2 0     ds ewy gS vkSj     r Fkk   l ehdj .k  3x 10x 27 0     ,

ds ewy gS] r ks  



 cj kcj  gS:

(1) 27 (2) 9 (3) 18 (4) 36
Sol. (3)

x2 – x + 2 = 0 ()

 2

2

3 10 27 0 ,

3 3 6 0

________________________
7 21 0

  

  
  

  

x x

x x

x

  





  = 3 Put in equation
92 – 3 + 2 = 0

92 –  = 0    
1
9

   
1
3



  = 
2
9    = 

2
3

.   = 1   = 3

 
.r


 

2 .3
3
1
9

 = 18



Q.16 The angle of elevation of a cloud C from a point P, 200 m above a still lake is 30°. If the angle of
depression of the image of C in the lake from the point P is 60°,then PC (in m) is equal to :
, d fLFkj  t y  okyh >hy ds r y l s  200 ehVj  dh Å¡pkbZ i j  fLFkr  , d fcUnq P l s , d ckny   C dk mUu; u dks.k 30° gSA
; fn C ds >hy esa i zfr fcac dk P l s voueu dks.k 60º gSa] r ks PC ¼ehVj ksa esa½ gS:

(1) 200 3 (2) 400 3 (3) 400 (4) 100
Sol. (3)

h

c'(Image)

200

m

h-200

C

h
P

200
x

30°

60°

200 tan 30
 

h
x

200 tan 60
 

h
x

200 3
200





h
h
h + 200 = 3h – 600
2h = 800
h = 400

 
200 sin 30

 
h

PC
PC = 400 m

Q.17 Let 
50 n

i i
i 1 i 1

X Y T
 

   , where each Xi contains 10 elements and each Yi contains 5 elements. If each

element of the set T is an element of exactly 20 of sets Xi ’s and exactly 6 of sets Yi’s, then n is
equal to :

ekuk 
50 n

i i
i 1 i 1

X Y T
 

   , gS] t gk¡ i zR; sd  Xi esa  10 vo; o gSa r Fkk i zR; sd  Yi esa   5 vo; o gSaA ; fn  T dk i zR; sd vo; o Bhd

20, Xi ’ l eqPp; ksa dk , d vo; o gS r Fkk Bhd  6, Yi’ l eqPp; ksa dk , d vo; o gS] r ks  n  dk eku gS:
(1) 15 (2) 30 (3) 50 (4) 45

Sol. (2)

50 10 5
20 6
 


n

50 6
2 5
  n  n = 30



Q.18 Let x=4 be a directrix to an ellipse whose centre is at the origin and its eccentricity is 
1
2

. If

P(1, ),> 0 is a point on this ellipse, then the equation of the normal to it at P is :

ekuk x=4 , d , sl s nh/kZòÙk dh , d fu; r k gS] ft l dk dsanz ewy fcanq i j  gS r Fkk gS r Fkk ft l dh mRdsanzr k  
1
2

gSA ; fn

P(1, ),> 0 bl  nh/kZòÙk i j  fLFkr  , d fcanq gS] r ks bl ds P i j  [ khaps x,  vfHkyac dk l ehdj .k gS%
(1) 8x–2y=5 (2) 4x–2y=1 (3) 7x–4y=1 (4) 4x–3y=2

Sol. (2)

e = 
1
2 x = 4

a
e

a = 2

e2 = 
2

21 b
a

  
1
4  = 

2

1
4


b

2 3
4 4


b
 b2 = 3

 Ellipse 
2 2

1
4 3
 

x y

P(1,)

x = 1  ; 
21 1

4 3
 


2 3 3
3 4 2

  
 

P
31,
2

 
 
 

Equation of normal 
2 2

2 2

1 1

  
a x b y a b
x y

4 3
31
2


x y

 = 4 – 3

4x – 2y = 1



Q.19 Let a1, a2, ..., an be a given A.P. whose common difference is an integer and Sn=a1+a2+ .... +an.
If a1=1, an=300 and 15n50, then the ordered pair (Sn–4, an–4) is equal to:
ekuk a1, a2, ..., an , d nh xbZ l ekar j  Js<+h gS] ft l dk l koZvar j  , d i w.kkZd gS r Fkk Sn=a1+a2+ .... +an.gSA ; fn  a1=1,
an=300 r Fkk 15n50, gS] r ks Øfer  ; qXe  (Sn–4, an–4)  cj kcj  gS%
(1) (2480,248) (2) (2480,249) (3) (2490,249) (4) (2490,248)

Sol. 4
a1 = 1, an = 300, 15  n  50
300 = 1 + (n – 1)d

(n – 1) = 
299
d

d can 23 or 13
if n – 1 = 13
n = 14
reject
or d = 13
n – 1 = 23
n = 24

S20 =  20 2 19.13
2

 a20 = 1 + 19.13

a20 = 248
= 10{249} = 2490
(S20,a20) = (2490, 248)

Q.20 The circle passing through the intersection of the circles, x2+y2–6x=0 and x2+y2–4y=0, having its
centre on the line, 2x–3y+12=0, also passes through the point:
òr ksa x2+y2–6x=0 r Fkk x2+y2–4y=0 ds i zfr PNsnu fcUnqvksa l s gks dj  t kus okyk og òÙk ft l dk dsUnz j s[ kk 2x–3y+12=0,i j
fLFkr  gS] fuEu esa l s ft l  fcUnq l s Hkh gks dj  t kr k gS] og gS%
(1) (–1,3) (2) (1,–3) (3) (–3,6) (4) (–3,1)

Sol. (3)
S1 + (S1 – S2) = 0
x2 + y2 – 6x + (4y – 6x) = 0
x2 + y2 – 6x(1 + ) + 4y = 0
Centre (3(1 + ), – 2) put in 2x – 3y + 12 = 0
6 + 6 + 6 + 12 = 0
12 = – 18
 = – 3/2
 Circle is x2 + y2 + 3x – 6y = 0
Check options

Q.21 Let {x} and [x] denote the fractional part of x and the greatest integer   x respectively of a real

number x. If 
n n

0 0
x dx x dx{ } , [ ]   and 10(n2–n),  n N n 1,   are three consecutive terms of a G.P.,.,

then n is equal to_____

ekuk {x} r Fkk [x] Øe' k% ,d okLr fod l a[ ; k x ds fHkUukRed Hkkx r Fkk egÙke i w.kkZd    x  dks n' kkZr s gSaA ; fn  
n n

0 0
x dx x dx{ } , [ ] 

r Fkk 10(n2–n),  n N n 1,   , d xq.kksÙkj  Js<+h ds r hu Øekxr  i n gS] r ks n dk eku gS_____



Sol. 21

 
1

0 0

 
n

x dx n x dx  = 
2

2
 
 
 

xn  = 2
n

 
0

n

x dx  =  
1 2 3

0 1 2 1

0 1 2 .... 1


      
n

n

dx dx n dx

= 1 + 2 + .........+ n – 1  
 1

2
n n

= 
   21

, ,10 .
2 2


 

n nn n n G P

= 
   

22 1
.10. 1

4 2


 
n n n n n

n – 1 = 20 ; n = 21

Q.22 A test consists of 6 multiple choice questions, each having 4 alternative answers of which only one
is correct. The number of ways, in which a candidate answers all six questions such that exactly
four of the answers are correct, is ______
, d i j h{kk esa 6 cgqfodYi h i z' u gSa r Fkk i zR; sd i z' u ds mÙkj  ds fy ,  4 fodYi  gSa ft uesa l s dsoy , d l gh gSA , d i j h{kkFkhZ } kj k
l Hkh 6 i z' uksa ds mÙkj  bl  i zdkj  nsus] r kfd ml ds Bhd  4 i z' uksa ds mÙkj  l gh gks] ds r j hdksa dh l a[ ; k gS ______

Sol. 135
6C4 ×1 × 32 = 15 × 9 = 135

Q.23 If a 2i j 2kˆ ˆ ˆ  
 , then the value of      2 2 2

i a i j a j k a kˆ ˆ ˆ ˆ ˆ ˆ       
  

 is equal to____

; fn a 2i j 2kˆ ˆ ˆ  
 , gS] r ks       2 2 2

i a i j a j k a kˆ ˆ ˆ ˆ ˆ ˆ       
  

 dk eku gS____

Sol. 18

   2 2ˆ ˆ ˆ ˆ.   
 i a i a a i i

= 
2ˆˆ 2j k  = 1 + 4 = 5

Similarly

  2 2ˆˆ ˆ ˆ2 2 4 4 8      
j a j i k

  2 2ˆ ˆ ˆ ˆ2 4 1 5      
k a k i j

 5 + 8 + 5 = 18



Q.24 Let PQ be a diameter of the circle x2+y2=9.  If   and   are the lengths of the perpendiculars from

P and Q on the straight line, x+y=2 respectively, then the maximum value of   is _____

ekuk PQ òÙk  x2+y2=9 dk , d O; kl  gSA ; fn   P r Fkk Q l s j s[ kk x+y=2 i j  [ khaps x,  yacksa dh yaCkkb; k¡ Øe' k%   r Fkk   gS]

r ks  dk vf/kdr e eku gS _____
Sol. 7

x+y=2

Q(acos ,asin )

P
(–acos ,-asin )

3cos 3sin 2
2

 


 

3cos 3sin 2
2

  


 

 23cos 3sin 4
2

 


 
  

9 9sin 2 4
2

 



 

5 9sin 2
2







max
9 5 7

2


 

Q.25 If the variance of the following frequency
distribution :
Class : 10–20 20–30 30–40
Frequency :     2     x     2
is 50, then x is equal to____
; fn fuEu ckj ackj r k caVu
                :
oxZ : 10–20 20–30 30–40
ckjackj r k :     2     x     2
dk i zl j .k  50 gS] r ks  x dk eku gS____



Sol. 4

62 = 

22  
   
 

 
 

i i i i

i i

f x f x
f f

   2 2

15 2 10 100 200
25 0 0 0
35 2 10 100 200

4 400

  




i i ix f x x x x f x x

x

x

100 25
4





xx
x

x  = 25

 
00

4

 x  = 50

x = 4




